. . Name:
TR Missing Addends

Find the missing addend.

Sarah has 8 apples, and after giving some to her friend, she

has S left. How many apples did Sarah give away?

Tom collected 12 stickers. He gave some to his sister, and now

he has 7 left. How many stickers did Tom give his sister?

There are |5 pencils in a box. After giving some to her

classmates, Emily has |0 left. How many pencils did she give

away?

Mark had 20 marbles, but after losing some, he now has |4

left. How many marbles did Mark lose?
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